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Knowledee and Understanding: Fill in the blank (10 marks

1. A term referring 10 6x10™ electrons is a gv

2 hu _nu current is the type of curment produced by a bauery.

3. A device used to measure the current is an _m_. T AL

4. The two types of units for current are . LN%T
5. Anexample of .@ﬁ,ﬂ :g energy is stored chemical energy in the banery.
. The two types of unils for potential difference are {__|. ar H..._m .

6

7. A LE.D&F is u device that uses energy, such as a light or resistor.
m.> mm ﬁfh.w.ln:.n::__u.,.s.,:uz__a_p_.nnsgena._maozn?___s_uv..
o

. Increasing the length of a wire wgﬂgu the rexistance of the wire.

10. Wirex in you house are made out of hb.m m_mxhl " because it is a good conductor.

Tght in BrsETIRts; Whatds the cumentthaugl the HEmE ks

vV .
2. if the current running through a light is 0.5 A and the voliage is 1.5 V, what is the resistance of the light? (2 V pl —_ = — w ;\P

marks) - ,._...._. H ml_m-a

3. Ifa 3 Volt batlery is hooked in series with 2 lights, what would the maximum voltage of each fight be? How o
would this be different if the lights were in senes? (2 marks) I.I.V I Serves n__..rP v Cf /J\,mvml [N QL A QF 1V %P So

4. 3 identical lights and a battery are connected in parallel 1o each other. If the current lowing through each light mk.\,h‘_x/ f o w(/ﬁ (r_Q)w L /D < _’

0.2 A, what is the current flowing through the battery? (2 marks) O. Ab P . AVO, ﬁ-_u.’/t ﬂnzﬁv/ Tuln eLSL Qﬁ nU,n\“. W <

3. 17 the resistance of each light is 3 ohms und the current is 0.8 A what is the voliage of each light (2 marks) Lo

RxT =V
Hox O8A = 2,V



